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Stellenwert von Zahlen Name:
L 6se jede Aufgabe. Antworten
1) 50¢40=
1.
2) 7.200:80=
E— 2.
3) 400:40=
E— 3.
4) 600:60=
E— 4
5) 70«20=
5,
6) 1080 =
6.
7) 3.600:60=
— 7.
8 800:10=
— 8.
9) 3500:70=
I 9.
10) 4.800:80=
— 10.
11) 30+20=
11,
12) 1.200:40=
— 12,
13) 5030 =
13,
14) 30+30=
14,
15) 40+ 50=
15,
16) 10¢30=
16.
17) 90«60 =
17,
18) 10+90=
18,
19) 80 50=
19,
200 100:10=
e 20.
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Stellenwert von Zahlen

Name:

L dsungsschltissel

L 0se jede Aufgabe.

1) 50«40= 2.000

2) 7.200:80=_ 90

3) 400:40= 10

4 600:60=__ 10

5 70¢20= 1.400
6) 1080= 800

7) 3.600:60=__ 60

8) 800:10=_ 80

9 3500:70= 50

10) 4.800:80=__ 60

11) 30+20= 600

12) 1.200:40= 30

13) 50«30= 1.500
14) 30¢30= 900
15) 40¢50= 2.000
16) 10«30=_ 300
17) 90« 60=_5.400
18) 10.90= 900
19) 80+50=_4.000

20) 100:10=_ 10

Antworten

1 2.000
2. 90

3, 10

4. 10

5. 1.400
6. 800
7 60

8 80

9 50
10. 60
11. 600
12. 30
13, 1.500
14. 900
15, 2.000
16. 300
17. 5400
18, 900
19.  4.000
20, 10
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JL_

Stellenwert von Zahlen Name:
L 6se jede Aufgabe. Antworten
4.000 50 1.500 60 30
2.000 10 60 2.000 1.400 1.
800 600 10 80 10
900 5.400 900 300 90 2.
1) 50¢40= Erinnern: 54 =20 3
2) 7.200:80= Erinnern: 72:8=9 .
3) 400:40= Erinnern: 4:4=1
5,
4) 600:60= Erinnern: 6:6=1
6.
5 70¢20= Erinnen: 7.2=14
7.
6) 10+80= Erinnern: 1« 8=8
7) 3.600:60 = Efinnern: 36: 6= 6 8
8) 800:10= Erinnern: 8:1=8 9.
9) 3500:70= Erinnern: 35:7=5 10.
10) 4.800:80= Erinnern;: 48:8=6 1.
11) 30+20= Erinnern: 3¢2=6 .
12) 1.200:40= Erinnern: 12:4=3
13.
13) 50+30= Erinnern: 5¢ 3 =15
14.
14) 30+30= Erinnern: 3¢3=9
15.
15) 40¢50= Erinnern;: 4 5=20
16) 10¢30= Erinnern: 1«3=3 16.
17) 90+«60= Erinnern: 9+ 6 =54 17.
18) 10+90= Erinnern: 1+ 9=9 18.
19) 80+50= Erinnern: 8+ 5=40 19
20) 100:10= Erinnern: 1:1=1 20
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